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DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1.	 S\Lh| WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq  
SWLcOWt]sOç S\Lh| kOñW°tLeV j¤WOÐfV.

2.	 S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV  
A\ÿa]\ÿ]ŸOºV. 

3.	 KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL 
zLt]Rs Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU.

4.	 j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa NwÈp]¤RÕaOS¾ºfLeV.

5.	 S\Lh| kOñW NWojÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ 
CsæL¾ S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh| 
kOñWU oLã] vL°OW.

6.	 S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç 
AjOof] sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ.

7.	 kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 
NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL W}r]pSfL,  

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ. AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa NwÈp]¤ 
RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU  
R\SáºfLeV. CfV JãvOU NkiLjRÕŸfLeV.

8.	 S\Lh| kOñW¾]R£ AvyLjU KÐOU IuOfL¾ KqO WasLyV S\¡¾]ŸOºV. CfV D¾qU  
WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

99.	 D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç .	 D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç 

j]¡SÇw°¥ j]¡SÇw°¥ NwNwÈLkP¡vÿU vLp]¨OW.ÈLkP¡vÿU vLp]¨OW.

10.	 wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 
wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 
wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj 
DkSpLY]\ÿV WrOÕ]¨OW.

1111.	 KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V .	 KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V 
jxVaoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jxVaoLvOWp]sæ.jxVaoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jxVaoLvOWp]sæ.

12.	 kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 
DSh|LYL¡À]pOU kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]sæ.

13.	 j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç NwoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.

S\Lh| kOñW

Aƒq SWLcV A S\Lh| kOñW

NWo jÒ¡

S\Lh|°tORa BRW I¹U  : 100 yopU : 75 o]j]ŸV
kqoLvi] oL¡¨V : 100
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1.	 Which among the following statements about Indian National Congress is/are not 
correct?

	 (1) The first session of INC was held at Tejpal Sanskrit Pathsala in Bombay.

	 (2) The first session of INC was presided over by S N Banerjee

	 (3) The first session in Bombay there were 72 delegates

	 (4) The second session of INC was held in Madras

	 (A) 1, 2, 3		  (B) 1 and 2

	 (C) 2 and 4		  (D) 3 and 4

2.	 Match the following:

		  A		  B

	 (Centre of their activities)	 (Leaders of 1857 Revolt)

	 (a) Lucknow		  (1) Khan Bhahadur

	 (b) Delhi		  (2) Nanasahib

	 (c) Kanpur		  (3) Bahadur Shah II

	 (d) Bareilly		  (4) Begum Hazrat Mahal

	 (A) a-1, b-2, c-3, d-4		  (B) a-4, b-3, c-2, d-1

	 (C) a-3, b-2, c-4, d-1		  (D) a-3, b-1, c-4, d-2

3.	 Which of the following Himalayan passes are located in the state of Sikkim?

	 (1) Nathula Pass		  (2) Bomdila Pass

	 (3) Jelep La Pass		  (4) Lipulekh pass

	 (A) 1 and 4		  (B) 1, 2, 4

	 (C) 1 and 3		  (D) 1, 3, 4

4.	 The Nobel prize in Medicine for 2021 was presented to:

	 (1) David Julius and Ardem Patapoutian

	 (2) Benjamin List and David W.C. MacMillan

	 (3) Maria Ressa and Dmitry Muratov

	 (4) Syukuro Manabe, Klaus Hasselmann and Giorgio Parisi

	 (A) 1		  (B) 2

	 (C) 3		  (D) 4



141/2021-M

A

4

5.	 Consider the following districts of Kerala

	 (1) Malappuram		  (2) Ernakulam

	 (3) Idukki		  (4) Trissur

	 Which of the above district/districts is not bordered four districts of Kerala?

	 (A) 1		  (B) 2

	 (C) 3 and 4		  (D) 1 and 2

6.	 Match the following beaches with their respective districts of Kerala.

	 (1) Papanasam	 – 	 (A) Kollam

	 (2) Munambam	 –	 (B) Thiruvananthapuram

	 (3) Thankassery	 –	 (C) Trissur

	 (4) Snehatheeram	 –	 (D) Ernakulam

	 (A) 1B, 2D, 3A, 4C		  (B) 1A, 2C, 3D, 4B

	 (C) 1D, 2C, 3A, 4B		  (D) 1A, 2B, 3C, 4D

7.	 Which of the following statements is/are correct?

	 (1) Tharakanath Das formed the Indian Independence League in California, in 1907

	 (2) Sohan Singh Bhakana founded the Hind Association of America in 1913

	 (3) Anushilan Samiti of Dacca was formed by Palin Das in 1902

	 (4) In 1920, Sachindra Sanyal formed the Hindustan Democratic Federation

	 (A) 1, 2, 3, 4		  (B) 2 and 3

	 (C) 2 and 4		  (D) 2, 3, 4

8.	 Match the following:

		  A		  B

	 (Major nuclear plants in India)	 (Its situated states)

	 (A) Tharapur		  (1) Gujarat

	 (B) Kakrapara		  (2) Karnataka

	 (C) Rawatbhata		  (3) Maharashtra

	 (D) Kaiga		  (4) Rajasthan

	 (A) A-3, B-1, C-4, D-2		  (B) A-4, B-3, C-2, D-1

	 (C) A-4, B-3, C-1, D-2		  (D) A-3, B-1, C-2, D-4
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9.	 Which of the following statements is/are not correct about GST?

	 1. Goods and Services Tax was introduced in India on 1st July, 2018

	 2. Prime Minister is the Chairman of GST Council

	 3. Luxury tax, Octroi and Entertainment taxes are merged into GST

	 4. GST is arranged under four slabs as 5%, 12%, 18% and 28%

	 (A) 1, 3, 4		  (B) 1 and 2

	 (C) 2 and 3		  (D) 3 and 4

10.	 Match the following:

		  A		  B

	            (Publication)		      (Social Reformer)

	 (1) Thandavalakshnam	 (a) Swami Agamananda

	 (2) Mokshapradeepam	 (b) Vedabandhu

	 (3) Amritavani		  (c) Vagbhatananda

	 (4) Sivayogavilasam		  (d) Brahmananda Sivayogi

	 (A) 1d, 2b, 3a, 4c		  (B) 1b, 2c, 3d, 4a

	 (C) 1b, 2d, 3a, 4c		  (D) 1c, 2a, 3d, 4b

11.	 The input device used in banking industry to read the cheque.

	 (A) OCR		  (B) OMR

	 (C) MICR		  (D) Barcode Reader

12.	 The number of words in a document appears in

	 (A) Title Bar		  (B) Menu Bar

	 (C) Tool Bar		  (D) Status Bar

13.	 Internet is a

	 (A) WAN		  (B) MAN

	 (C) LAN		  (D) Private Network

14.	 A7 : A9 indicates

	 (A) Cell A7 and cell A9 only	 (B) Cell A7 only

	 (C) Cell A9 only		  (D) Cell A7 through A9
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15.	 Non impact printer

	 (A) Chain printer		  (B) Laser printer

	 (C) Lene printer		  (D) Dot matrix printer

16.	 Detect spelling and grammar errors in a word document by

	 (A) Press Alt + F7		  (B) Press Shift + F7

	 (C) Press Ctrl + F7		  (D) Press F7

17.	 Shortcut key to insert new slide in a current presentation

	 (A) Ctrl + N		  (B) Ctrl + M

	 (C) Ctrl + O		  (D) Ctrl + S

18.	 Bing is a 

	 (A) Social Media		  (B) Business software

	 (C) Website		  (D) Search Engine

19.	 Not a font style

	 (A) Bold		  (B) Regular

	 (C) Subscript		  (D) Bold Italic

20.	 USB means

	 (A) Universal serial bus	 (B) United serial bus

	 (C) Universal system bus	 (D) Uninterrupted system bus

21.	 Not a web browser

	 (A) XML	 (B) Safari	 (C) Netsurf	 (D) Opera

22.	 In Excel all formula begin with

	 (A) +	 (B) –	 (C) =	 (D) *
23.	 Wireless mouse communicate through

	 (A) Infrared wave		  (B) Radio wave

	 (C) Microwave		  (D) Electromagnetic wave

24.	 Font size measured in

	 (A) Inches		  (B) Pixels

	 (C) Spikes		  (D) Points
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25.	 In Excel the function used to return the remainder after a number is divided by a 
divisior

	 (A) MOD ( )	 (B) ROUND ( )	 (C) DIV ( )	 (D) FACT ( )

26.	 Ctrl + = Key, this shortcut is for

	 (A) All Caps	 (B) Shadow	 (C) Subscript	 (D) Superscript

27.	 Not a networking device

	 (A) Switch		  (B) Bridge

	 (C) Hub		  (D) None of these

28.	 Volatile memory

	 (A) ROM	 (B) RAM	 (C) PROM	 (D) Hard disk

29.	 Capacity of a single sided blu-ray disc

	 (A) 25 GB	 (B) 30 GB	 (C) 50 GB	 (D) 40 GB

30.	 Landscape is a

	 (A) Page size		  (B) Paper size

	 (C) Page orientation		  (D) Pages per sheet

31.	 Tables include

	 (A) Rows	 (B) Columns	 (C) Cells	 (D) All of these

32.	 The file formats that can add to power point shows

	 (A) .JPG		  (B) .WAV

	 (C) .GIF		  (D) All of these

33.	 W3C stands for

	 (A) world wide web community

	 (B) world wide web consortium

	 (C) world wide websites community

	 (D) world wide websites consortium

34.	 Number of pixels displayed on the computer screen is called

	 (A) Viewing size		  (B) Resolution

	 (C) Colour depth		  (D) Refresh rate
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35.	 Long text can be broken down into many lines within a cell through

	 (A) Justify in edit  cells

	 (B) Wrap text in format  cells

	 (C) Both A and B

	 (D) None of these

36.	 In Excel by default numeric values appear in

	 (A) Right aligned		  (B) Center aligned

	 (C) Left aligned		  (D) Justify aligned

37.	 Function key used to view slide show

	 (A) F2	 (B) F1	 (C) F5	 (D) F10

38.	 Windows based command to view IP address

	 (A) IFCONFIG	 (B) IPCONFIG	 (C) IF	 (D) PING

39.	 In word mailing list is known as

	 (A) Sheet		  (B) Source

	 (C) Data sheet		  (D) Data source

40.	 Default number of lines to drop for drop cap

	 (A) 10	 (B) 15	 (C) 3	 (D) 4

41.	 Antivirus software

	 (A) Avira		  (B) Nimda

	 (C) Code Red		  (D) Trojan Horse

42.	 To move a block of text in a word document

	 (A) Copy and Paste		  (B) Paste and Delete

	 (C) Paste and Cut		  (D) Cut and Paste

43.	 Ctrl + P is used to

	 (A) Open save dialog box	 (B) Open print dialog box

	 (C) Open paragraph dialog box	 (D) Open page format dialog box

44.	 Shortcut key for creating copyright symbol

	 (A) Ctrl + C		  (B) Alt + C

	 (C) Ctrl + Shift + C		  (D) Alt + Ctrl + C
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45.	 Smallest and Largest font size in font size tool on formatting tool bar

	 (A) 8 and 68	 (B) 8 and 72	 (C) 6 and 72	 (D) 6 and 68

46.	 System software

	 (A) Linux	 (B) C++	 (C) WORD	 (D) JAVA

47.	 The proprietory software available to everyone is

	 (A) Liveware	 (B) Firmware	 (C) Fireware	 (D) Freeware

48.	 Header and Footer command can be accessed from

	 (A) Review	 (B) Home	 (C) Insert	 (D) None

49.	 Apply different page formatting to the same document

	 (A) Page break	 (B) Section break	 (C) Line break	 (D) None

50.	 Input Device

	 (A) Speaker	 (B) Printer	 (C) Plotter	 (D) Scanner

51.	 Which method of typing is generally followed to attain higher speed and accuracy?

	 1. Touch method		  2. Sight method

	 (A) 1 Only		  (B) 2 Only

	 (C) Both 1 and 2		  (D) Neither 1 nor 2

52.	 Using which among the following can we disengage the cylinder to rotate freely?

	 1. Push button		  2. Carriage release lever

	 3. Cylinder release lever	 4. Margin release key

	 (A) 1 only			   (B) 1 and 3 only

	 (C) 1, 3, 4 		  (D) 3 and 4 only

53.	 Which among the following helps to move the carriage leftwards?

	 1. Space bar		  2. Character keys

	 3. Key release key		  4. Backspace key

	 (A) 1 and 2			   (B) 1, 2 and 3

	 (C) 2, 3 and 4		  (D) All of the above

54.	 While typing 2 spaces are to be provided after

	 1. Full stop			   2. Question mark

	 3. Exclamation mark		  4. Semi Colon

	 (A) 1 and 2		  (B) 3 and 4	 (C) 1, 2 and 3	 (D) All of the above
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55.	 Which among the following remains idle while typing using blind method?
	 1. Left thumb		  2. Right thump
	 3. 4th finger on the right
	 (A) 1 and 2			   (B) 3 Only
	 (C) 1 Only			   (D) 2 Only

56.	 The word 'Accommodation' can be syllabified as
	 1. Acco-mmodation		  2. Accom-modation
	 3. Accommo-dation		  4. Acc-ommodation
	 (A) 1, 2			   (B) 1, 3
	 (C) 3, 4			   (D) 2 and 3

57.	 Which among the following statements is/are not true?
	 1. Demi-official letters are written to get personal attention of the addressee
	 2. Generally Demi-official letter carries confidential or urgent matter
	 3. Demi-official letter is concluded with 'Yours Faithfully'
	 4. Demi-offical letter is written and passed between officials
	 (A) 1 Only			   (B) 3 and 4
	 (C) 2 and 3			   (D) 3 Only

58.	 M/s is used in inside address as a title to
	 1. Company			  2. Firms
	 3. Government Department	 4. Banks
	 (A) 1 Only			   (B) 4 Only
	 (C) 1 and 2			   (D) 3 and 4

59.	 The Complimentary close 'Yours Truly' is used in
	 1. Government orders	 2. Circulars
	 3. Business letter		  4. Official letter
	 (A) 1, 2 and 3		  (B) 3 Only
	 (C) 3 and 4			   (D) 2, 3 and 4

60.	 Home keys in a typewriter are
	 1. a s d f			   2. ; l k j
	 3. N			   4. Q W E R T Y
	 (A) 1 and 2			   (B) 4 Only

	 (C) 1, 2 and 3		  (D) All of the above

61.	 Synonym of distress is _______
	 (A) happiness		  (B) anguish
	 (C) comfort		  (D) soothe
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62.	 _______ means an inclination to fight
	 (A) Aggression		  (B) Trigger
	 (C) Impact		  (D) Competitiveness

63.	 The past participle form of lead is _______
	 (A) lead		  (B) led
	 (C) lied		  (D) leaden

64.	 Scorching is a/an _______
	 (A) verb		  (B) adverb
	 (C) noun		  (D) adjective

65.	 Every school and college _______ a play ground.
	 (A) has		  (B) have
	 (C) has been		  (D) have been

66.	 _______ means to escape from punishment.
	 (A) Run around in circles	 (B) Beat the rap
	 (C) The black sheep		  (D) Butter up

67.	 _______ is in passive form.
	 (A) He had been giving a pen	 (B) He was giving a pen
	 (C) He was given a pen	 (D) He had given a pen

68.	 _______ is correctly spelt.
	 (A) Accomodation		  (B) Acommodation
	 (C) Acomodation		  (D) Accommodation

69.	 He hardly speaks English, _______
	 (A) will he?		  (B) won't he?
	 (C) does he?		  (D) doesn't he?

70.	 Amit travelled _______ bus.
	 (A) in		  (B) on
	 (C) by		  (D) at
71.	 I have been taken _______ stamp collection and it's really interesting.
	 (A) out		  (B) up

	 (C) over		  (D) away

72.	 During my journey to Delhi I saw _______ one-eyed man.

	 (A) an		  (B) a

	 (C) the		  (D) one
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73.	 Sruti said, "please wait here till I return" can be reported as

	 (A) Sruti told me please wait there till I return

	 (B) Sruti requested me to wait here till she returns

	 (C) Sruti requested me to wait there till she returned

	 (D) Sruti requested to wait here till I return

74.	 If you told the truth, _______

	 (A) you will not be punished	 (B) you would not have punished

	 (C) you would not have been punished	 (D) you would not be punished

75.	 Rohit _______ in Delhi for the last five years.

	 (A) is living		  (B) lives

	 (C) has been living		  (D) have been living

76.	 When I _______ the school, the PTA meeting had already begun

	 (A) reach		  (B) reaches

	 (C) had reached		  (D) reached

77.	 Which part has an error?

	 Sunil is / a best student / in our class / at present.

		  1	 2	 3	 4

	 (A) 2		  (B) 1

	 (C) 3		  (D) 4

78.	 Which is correct?

	 (A) November 14 is celebrated as Children's Day in India

	 (B) November 15 is celebrated as Children's Day in India

	 (C) November 16 is celebrated as Children's Day in India

	 (D) November 17 is celebrated as Childrens Day in India

79.	 Arrange the jumbled words to get a grammatically correct sentence.

	 Long / plastic / it is a / brush / narrow

		 A	 B	 C	 D	 E

	 (A) CBEAD		  (B) CBAED

	 (C) CAEBD		  (D) CEABD

80.	 No sooner did I reach the station, _______

	 (A) than the train left 		 (B) when the train left

	 (C) the train had left		  (D) the train left.
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81.	 fLRuR¨LaO¨OÐvp]¤ wq]pLp khU JfV?

	 (A) NkLf]j]i|U	 	 (B) NkLi]j]f|U

	 (C) NkLf]j]f|U	 	 (D) NkLi]j]i|U

82.	 fLRuR¨LaO¨OÐvp]¤ wq]pLp khU JfV?

	 (A) RRWáƒqU	 	 (B) WRáƒqU

	 (C) WáRƒqU	 	 (D) RRWpƒqU

83.	 RWLaO¾]q]¨OÐ vL\W°t]¤ wq]pLpfV RfqR´aOR¾uOfOW

	 (A) qºV BjW¥ \¾O	 (B) qºV Bj \¾O

	 (C) qºV Bj \q]´O	 (D) qºV BjW¥ \q]´O

84.	 A¡ÈkµLw¾V IÐfV JfV yUX|Rp WOr]¨OÐ vL¨LeV?

	 (A) CqOjPã] AÒfV		 (B) CqOk¾] AµV

	 (C) AÒfV	 	 (D) AÒ¾]pµV

85.	 Statement IÐf]R£ v]v¡¾]f khU JfV?

	 (A) j}qŸ]SÕ¡ 	 	 (B) NkoLeU

	 (C)WpVk}¾V 	 	 (D) qw}f]

86.	 kpô]R£ Wa¤ IÐf]jV fOs|oLp khSofV?

	 (A) kSpL^U	 	 (B) kSpLhU

	 (C) kSpLiqU	 	 (D) kSpLhi]

87.	 yoLjjLp kf]SpLaOWPa]pv¥ IÐf]jV fOs|oLp khSofV?

	 (A) ykÁ]	 	 (B) ykf]

	 (C) ykh]	 	 (D) yk}f]

88.	 Dr] IÐvL¨]R£ kq|Lp khU RfqR´aOR¾uOfOW

	 (A) BaWU	 	 (B) DTp¤

	 (C) WL\U	 	 (D) Ba]W
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89.	 fLRuR¨LaO¾]q]¨OÐvp]¤ y~¡eU IÐV A¡ÀU vqOÐ khSofV?

	 (A) WµOW]	 	 (B) YLUSYpU

	 (C) X¡²PqU	 	 (D) q^fU

90.	 DrOÒV IÐ vL¨]R£ kq|Lp khU JfV?

	 (A) k]k}s]W	 	 (B) k]Õ]q]

	 (C) k]SÕLs]	 	 (D) k]Õq]

91.	 RIz]WU & v]kq}fkhSofV?

	 (A) ARRjz]WU	 	 (B) AjLz]WU

	 (C) kRRqz]WU	 	 (D) kLqNf]WU

92.	 SyLkLi]WU & v]kq}fkhSofV?

	 (A) j]âkLi]WU	 	 (B) j]qOkLi]WU

	 (C) j]qkLi]WU	 	 (D) j]qOkjLi]WU

93.	 "SwæLW¾]¤ Wu]¨OW' IÐ RRws] A¡ÀoL¨OÐRfÍV?

	 (A) v]whoLp]krpOW	 (B) CTe¾]¤ krpOW

	 (C) \OqO¨]ÕrpOW	 (D) krpLf]q]¨OW

94.	 S\¡R¾uOfOW & \qe + Aqv]ÎU

	 (A) \qeqv]ÎU	 	 (B) \qeLqv]ÎU

	 (C) \qeqLv]ÎU	 	 (D) \qeLqLv]ÎU

95.	 S\¡R¾uOfOW & WL¨ + RkLÐV

	 (A) WLWRÕLÐV	 	 (B) WL¨RkLÐV

	 (C) WL¨LRÕLÐV	 	 (D) WL¨RÕLÐV

96.	 k]q]R\ÿuOfOW & RkL¤¾]aÒV

	 (A) RkL¤ + f]aÒV	 	 (B) RkLÐV + f]aÒV

	 (C) RkLsæV + f]aÒV	 	 (D) RkL¢ + f]aÒV
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97.	 k]q]R\ÿuOfOW & Cv¥

	 (A) C + A¥	 	 (B) C + B¥

	 (C) CT + A¥	 	 (D) CT + B¥

98.	 "SnL^]j]' IÐ kh¾]R£ kOsæ]UY khU JfV?
	 (A) SnL^jU	 	 (B) SnL^¢

	 (C) SnL^]		  (D) SnL^|

99.	 "\LfWU' IÐ kh¾]£ Nñ}s]UYkhU JfV?
	 (A) \Lf]W	 	 (B) \Lf]W]

	 (C) A\LfWU	 	 (D) \LfW]

100.	 �fLRu RWLaO¨OÐ vLW|°Rt A¡ÀU jìRÕaO¾LRf S\¡R¾uOfOW 
WLãV v}w] ou RkpVfO.

	 (A) ou RkpVfSÕL¥ WLãV v}w]

	 (B) WLãV v}wOWpOU ou RkáOWpOU R\pVfO

	 (C) WLãV v}w]pfO RWLºV ou RkpVfO

	 (D) ou RkpVffORWLºV WLãV v}w]

_______________
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